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4. Consider the fractions

3+4 2+3 1+3
—_— == cand o ——
12 6 9
(i) Which fraction has the largest value?
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(if) Calculate the difference between the largest and the smallest fractions.
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5. (i) Expressthe number 36 X 48 as the product of prime factors, using indices.
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(i) What is the lowest integer that 36 x 48 can be multiplied by to produce a
perfect square?
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6. (a) Ina family relay run, Brian runs 2.5 kilometres, Alison runs 0.75 kilometres
and Tim can only manage 400 metres.

What is the total distance, in metres, covered by the family?
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(b) Paul has four full bottles of water.

550 ml 75cl 0.9 litres

Eom\ 7200 - 400!

All the water is poured into an empty 5 litre jar.

(i) What is the volume of water in the jar? Give your answer in millilitres.
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(if) How many litres of water should now be poured into the jar to fill it up? Z. /
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School Raffle

1st Prize

2 Ticwets to 566 8 Wast Eng show

2nd Prize

A COmpUABS DRMES CONSGE
Wil RSSONET (et

3rd Prize
£50 book 10kens




55% of the animals are sheep, 25% are cows, 15% are pigs and the

@na pie chart, clearly marking the angles and
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lon Brew sold ice creams and cans of soft drink. He sold
Qﬂ‘ﬁ\ amd d cans of soft drink at 40 pence each.
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